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O0000000 > summary(glm(y ~ f, data = d, family = poisson))
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/& (HEM) Estimate Std. Error z value Pr(>|z]|)
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> library(glmmML)
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model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdalil)
log(lambdali]l) <- a + b * F[i] + r[i] + rp[Pot[il]
¥
# 0000000oDo0oOoooooo
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# J0000O00000D

a ~ dnorm(0, 1.0E-4) # OO

b ~ dnorm(0, 1.0E-4) # 0O OO0

for (i in 1:N.sample) {
r[i]l ~ dnorm(0, tau[1])

}

for (j in 1:N.pot) {
rp(j] 7 dnorm(0, taul[2]) # OO OO0 (DOOOO)

}

for (k in 1:N.taw) {
taulk] <- 1.0 / (sigmalk] * sigmalk]) # 00000000000
sigmalk] ~ dunif (0, 1.0E+4)

}

}
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Iterations N= 1000 Banduidth = 0.149

mean sd 2.5% 25% 50% 75%  97.5% Rh
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigmal[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0
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for (i in 1:N.site) { o
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